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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.
(2) Show necessary calculations as a part of answer.

1 Keyur Ltd. produces its product into three production 20
departments A,B and C. Its particulars for the year 2018-19
are as under :

Particulars A B C | Total (Rs.)

Sales 56,000 42,000 42.000 1,40,000
Sub : Production

Expenses-Fixed — 3,500 700 4,200
Variable 42,000 | 24,500 | 23,800 90,300
Gross profit 14,000 14,000 17,500 45,500
Administrative Expenses 4,690 4,060 6,020 14,770
Selling Expenses 7,070 7,350 8,120 22,540
Net Income 2,240 2,590 3,360 8,190

(1) The sales of department 'A' includes the sales made to
department 'C' at production cost worth Rs. 7,000.

(2) Administrative expenses includes a sum of Rs. 4,550 as
general expenses, which is required to be allocated to
each department in the ratio of gross profit.

(3) Selling expenses includes a sum of Rs. 3,500 as general
expenses, Which is required to be allocated to each
department @ 2.5% of the sales of each department.

Give rank to each department as per net contribution ratio

approach.

OR

1 A production department of a manufacturing company has 20
finished the following data of January-2020. Prepare
statements of 1. Cost Centre 2. Profit Centre 3. Responsibility
Centre 4. Minimum production units to carry on business

department.
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Particulars Budget Actual
(Rs.) (Rs.)
Direct materials 10,00,000 12,75,000
Direct Wages 6,25,000 8,12,500
Repairs and maintenance
(fixed Rs. 2,50,000) 5,00,000 5,50,000
Supervision Expenses (fixed) 2,50,000 2,75,000
Consumable stores (variable) 1,87,500 2,37,500
Factory rent (fixed) 1,25,000 1,25,000
Depreciation (fixed) 2,50,000 2,50,000
Tools (variable) 62,500 75,000
Power and Fuel (variable) 3,75,000 4,50,000
Administrative expenses (fixed) 6,25,000 6,62,500

The department has 50 identical machines. During January

2020, the budgeted and actual production of the departments

are 10,000 and 12,500 units respectively. However the

department is closed and the machines production services

were hired outside the cost of hiring the services of similar

machine would be Rs. 375 per unit.

2 Following details are related to process X' during the
month of January 2020.

ey
@)
®3)
4)
)
(6)

()

Opening stock of semi finished goods 800 units, total
costs Rs. 13,000

Degree of opening stock (Completion)

Material 100%, Labour 60%, Overhead 60%
9,200 units introduced in process at total cost Rs. 92,000
Direct wages paid Rs. 41,850

Overheads expenses Rs. 20,925

Scraped units 1,200 and its degree of completion :
Material 100%, Labour 80%, Overhead 80%
Incomplete units at the end of process : 900 units
Degree of completion :

Material 100%, Labour 70%, Overhead 70%

20
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(8) Production of finished goods at the end of process
transfer to next process 7,900 units

(9) Normal wastage : 8% of total units introduced (opening
stock + units introduced)

(10) Scrap value per unit Rs. 10

Prepare :

(1) Statement showing equivalent units

(2) Statement showing cost per unit.

(3) With the help of FIFO method, prepare statement
showing cost of abnormal wastage. (or Gain), closing
stock of incomplete units and cost of units transferred
to next process.

(4) Process account for the month of January 2020.
OR

In a factory, four products are emerged from a process. 20
The total joint cost during the three months ended on

31-3-2020 is Rs. 37,000. The output, sales and further

processing costs are as under :

Product | Output | Additional processing cost | Total value

(Kgs.) | after split off point (Rs.) | (Sales) (Rs.)

g a @w »

2,000 10,750 43,125
1,000 2,250 3,750

500 - 1,500
1,000 375 11,250

In case these products were sold before further processing the
selling price would have been as under :

A — Rs. 15 B — Rs. 6 C - Rs. 3 D — Rs. 7.5
You are asked to prepare profitability statement based on :
(1) If the product are sold after further processing

(2) If they are sold at split off point
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Find out the selling price of a product having following

cost structure.

Material Rs. 1,20,000
Labour Rs. 1,05,000
Overheads Rs. 75,000

Sales and production is of 1,50,000 units. Capital employed
in fix is Rs. 2,94,000 and that in current assets i1s 40% of
sales 12% return is expected on capital employed after paying
tax at 40% of net earning.
OR

Malay Ltd. presently operating its plant at 80% capacity
to manufacture a product only to meet the demand of Preeti
Ltd. Malay 1td. supplies the product for Rs. 3,50,000 and earn
profit of 20% on sales. Direct cost per unit is constant. The

indirect cost estimation is as under :

15

15

Particulars

80% capacity

90% capacity

100% capacity

Variable cost
Semi variable
Fixed Cost

20,000 units
Rs. 60,000
Rs. 25,000
Rs. 60,000

22,500 units
Rs. 67,500
Rs. 27,500
Rs. 60,000

25,000 units
Rs. 75,000
Rs. 30,000
Rs. 60,000

It received an export order for the product equal to 20% of
its present operation. Additional packing charge will be
Rs. 1,000 for the order. Determine the price of export order

to give a profit margin of 10% on export price.

Explain the meaning of cost management and discuss its

objectives and four pillars of cost management.

OR

15

4 Write short notes :

(1) Labour productivity

(2) Material productivity

(Any Three)

(3) Productivity and value added concept

(4) Functions of Management audit

15

(5) Differences between cost audit and management audit.
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